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1. ROBKOS BE K ERD X, 2. OB B A KkD L,
Find the inverse of the following function. Find the inverse of the following function.
v En e En x— 1 Fodmht)
HlED y=2x+1 (0=x=2) 151 F y:H—I@@&ﬁ;&fg;k&;ot
b
=2 x+7 oE™E /=y=5 x—7 —2 N
Y r;nge Y y = x +7 = x -7 +7 £ ﬁéiﬁxtiyi/
xa*omf%%(k v XL
solve 2 y(x+/ ):x*/ ) x(y*/):*y*/
xLyEan = Xl (j=x<5) YEI ThHBHS g —2 1
swap 2 y*/
bA D 1 w n —x —/
HED y= ——x—1 (2=x=4) XL yEANR LT y=
b D —x — 1 ?\%<7J*/u:4’/5 b
Fﬁ E y = x— 1 @E 35 %ﬂz&)io

E® y=viTa (x=-—4)

Ho &
=vx +l/ DB y=0
range
xk?bf%ﬁ( x = y—4
\» solve,
Xt yFEIXNE 2T y = x?—4 (x =0)
swap

HA D

HEQ y=v2x+1 (x=0)

fok-4 TV AT 9 b
3. YK@/H\E}Z% (fog) @% ko X,

Find the following composite function (f g) (x).

nnEn

Bl )= 2", g)= log, x

™ A )
(fog)w =296, % e kL +adsersl
log, (fog) @) = log, 218, %

v

BIEG y= 4% = log, 2% x log, 2= log, «x
B SR —

y=4% DEHR Ty >0 Lenot (fog)@=x
& HATL

XWZDOWTHA (L x = log, y ] RH @ )= 3", gx)= logg x
' »n

xbyrAnH z< y = log, x (x >0)

HAEND

HEG® y= 10"

HEQ =2 —4,g0=ve T 4
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1. ROBKOS BE K ERD X, 2. WoOBHOW B #Hx KD X,
Find the inverse of the following function. Find the inverse of the following function.
v En 1 nwn Eu x_|_ 1 R )
WJ%E@)’ZTJC—Z (0= x=6) il B yzr—l@ﬁfﬁﬁ%*&)i
7/ b oo
y:Tx*,Z DAEIHX 1Z —2=2y <0 y = ﬁj; — xE/ 7k EHEyET
v
XWZOoWTHBL x=3y+6 y(x—=7)=x+7 kv x(y—7)=y+7/
o i
xbkyFEXNEZT y=3x+6b (—2=x<0) yE] T HBHS x:—%
bA ED 1 Y
HEQ y= x—1 (2=x=4) wom x 47
2 xtyrErxnEz< yE T
b D 2x— 1 ?\%<7J*/u:4’/5 b
M oy = F—Z@E%ﬁ%ﬂ?&)io
nwrEn
IO y=vx—1 (k=1)
b &
Yy =vx —/ DMEHRE y=0
v
XD WTHE (L x = y*+7
o i
xbty#ExnEz  y=xt/ (x=0)
bA ED
HEO Yy=v3x— 2 (le)
ek TN H AT o 'é)g
3. KoLk EK (fog) @% ko X,
Find the following composite function ( ) (x).
nnEn
Bl f(x)= log, x, g )= 2%
(fog)(x) = log, 2% =xlog, 2 =x
av D Xt 1 AL x
FIES y=5 il &E @ f)=loggx,g (x)= 3
By &
y =s%T7 DEBE § >0
xa:omf%ﬁ(k x=log, y —7
o i
xbyrandzc y=log x—7 (x >0)
bhEn b 1
MEQ® y=4%" HEQ  f)= Tx—Z, gx)=3x+ 6
bLAE L
HEG®  f@=vx—1, g =x2+1
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2. f(x):ax—f—b@a,b@ﬁ’i’;é&)io

Find the values of a and b in f (x)=a x+b.

1.
Find the inverse of the following function.
nwn
BIEDO y=—vx+1 (x=-—1)
Hon X
y=—Vx+/7 oOMEEEGE y=0
v
XD Wk x = y*—7
w »
xbyExRBzZT y=at—7 (x=0)
b N
HEDO y=x2+1 (x=0)
nwn
BIRE@ y=log, (x+ 1) (x=—1)
5 E Lot
y=1log, (x+7) ol T~xToEK
v
XWOWTH (L x =2Y —7
w »
xbty#ranBHzc y=2%—7
b N
HEQ y=3%+1
nn En 2x_ 1
i === -
FIES p—
2 x—7 / oovE
= B 1
7 P +2 &k EEBEyF2

y(x—7)=2x—7kv x(y—2)=y—7

. y—7
#2 T =
YyFL THDHM5 x v —2
R o x — 7/
#% 3 = —
X yzAXnE 2T y ‘2
b —
1H e (3) y:L

x— 2

%J% f(1)=3, f1(7)=3

FT(n=3 &n f(3)=7
f(3)=ax3+b=3a+b=7 @
f(/)=ax/+b= a+b=3 @
O-@&n, 2a=4, a=2
@a:%lj\abf 24+ b=3, b=/
LT, a=2,b=7
W r(2)=5, s '(8)=3

ek THo®VLAALT I

3. KOAHEE (fog) @.(g0f) @ &Ko k.

Find the following composite function (f g ) (x) and (g f’) (x).

nnEn

FlE f)=x— 2

(fog) @ =rle@)=(2 x+4)—2 =2 x+2

, SW=2x+ 14

(gof) @ =glf@)=2 (x—2)+4 =2 x

%n%%@ fO=x2+2 x=0, g@W=vx— 2

o

> A TED X 1

HEQ f)= — > g(x)zl—f—T







